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FINANCIAL ACCOUNTING 11 [UB02CCOMS51/21]
Tuesday,26™ April 2022
09.00 AM TO11.00 AM

Mo. of Printed Pages: o 3

MARKS: 70

ATTEMPT ANY FOUR QUESTIONS FROM THE FOLLOWING
ALL QUESTIONS CARRY EQUAL MARKS
Q1A. What is Balance-Sheet? Explain the objectives of Balance-Sheet in detail.

Q1B. Explain the Limitations of Balance-Sheet in detail.
Q2A. Explain the Functions of Balance-Sheet in detail.
Q2B. From the following particulars calculate:

I. Capital Employed
2. Owners Fund
3. Net Working Capital
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Liabilities Amount|[Rs.] Assets | Amount [Rs.]
Parth Capital 60000 Goodwill 27700
Nayan Capital 60000 Land and Building 70000
Parth Wife Loan 14000 Furniture 26000
Reserves 8000 Nirma Company Shares 12000
. Investment
Bank Loan 10000 Other Shares [temporary 6500
investment]
Bank Overdraft 7500 Stock 18000
Workmen’s Compensation 8000 Cash 80GO
Fund
Workmen Profit Sharing 4000 Debtors 22000
Fund
Profit and Loss Account 5000 Prepaid Insurance 6000
Creditors 17000 Interest due but not received 1800
Bills Payable 3000
Unpaid Salary 1500
198000 198000
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(Q3A. Explain the Types of Share Capital in detail. [10]
Q3B. Write Notes on the following: 17.5]

1. Shares issued at Par
2. Shares issued at a premium

(4. Anand Company issued a prospectus inviting applications for 20000 Equity Shares [17.5]
of Rs. 10 each at a premium of Rs. 2 per share payable as under;
On Application Rs. 2
On Allotment Rs. 5 [including premium]
On First call Rs. 2
On Se.cond Call Rs. 3

Applications were received for 30000 shares and allotment made pro-rata to the
applicants of 24000 shares and the remaining applications were refused and the

amount was refunded. Money over-paid on applications was to be transferred to
Allotment Account.

A to whom 800 shares were allotted failed to pay the allotment money and B to whom
1000 shares were allotted failed to pay the two calls. These shares were forfeited after
making second call.

All the shares were sold to Mr X credited as fully paid, for Rs. 8 per share Pass necessary
journal entries in the books of the company.

QSA. What is Financial Statement? Explain the Charactristics of financial statement. [10]
Q5B. Explain the Limitations of financial statement. [7.5]
Q6. Write Notes on the following: [17.5]

1. Comparative statement
2. Trend Analysis
3. Common size statement

Q7. From the following assets and liabilitics Prepare the Balance Sheet of the company [17.5]

with notes as per revised schedule VI of the company Act 2013

Liabilities Amount[Rs.] | Assets Amount [Rs.]
Sundry creditors 100000 Cash at Bank 79800
General reserve 56000 Cash in Hand 1500
Interest on Deb.entures | 28000 Investments: Long Term 95000 |

&



9000

Authorised share Capital: 1200000 Pretiminary Expenses
120000 Equity shares of
Rs. 10 per share
Subscribed Capital: Current Assets Loans and 95000
Advances
80000 shares of Rs. 10 per
share 800000
Less: Calls in arrears
785000
15000
Profit and Loss Account 75000 Goodwiil 50000
6% Debentures 600000 Buildings 600000
Bills Payable 76000 Plant and Machinery N
660000
Less: Depreciation 66000 594000
Stock 10000
Debtors 174000
Less: Provision for 165300
Doubtful Debt 8700
Furniture 14400

Q8. Draw format of Vertical Profit and Loss Account of as per revised scheduted V1 of [17.5]

the Company’s Act 2013 along with Notes with imaginary figures.
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